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JAAL : (1) 61y Ussdldl OBl UMIA 8.
(2)  SISUBL AR ULl walel AUl

1 Ayy Sudl Widldl axg 20l Qe X, Y 24 Z gl Gau 53 8. d-dl ad
2020-21 [aoidl {12 you & :

[o1d [ewa | [ewd | [ewa 54 3.
X 3. Y 3. Z 3.

ERI) 3,200 | 2,400 | 2,400 8,000
Gauler W :

RaR - 200 40 240

Yldd 2,400 1,400 1,360 5,160

800 800 1,000 2,600

adladl wal 268 232 344 844

ALl v 404 420 464 1,288

128 148 192 468

(1) X [actotdl QaeiHi 3. 400 Z [l Geuled w2l s3d dulRi-l
AHLAY YA B,

(2)  adladl vRlMi 3. 260 AL wAAL JHIAA AL V. ¥ e [AMLLAL
SIAL AslHl MHIRML slaqdldl ©.

(3) ARl VRAHL 3. 200+ ALY vRAAL FHIAL AY B, ¥ 35 [Pl
deil QL 2.5% Avl slddidl ©.

BURsd (o1l ul ALl sLouL dRidR B3 gll Reweil sixl
AAALSH AL
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2 Rzt - A2 sl 3 8. % AR RRgl O, P, Q 21 Rd Gauled 53
8. 835 A, O8Il MMl uRlL A V. SIS s AuAdU Hie-dl Hilsdl

A o © :
[a1d 0] P Q R
BUSHELS -

HYR sellS 3 4 2 3

oo (34d 3. 150 | 146 | 140 |[130
lad uidr 3. [130 | 100 90 85

aRq - R, RRpd - Cul 3eiedl 4 43 8. uid d HI2 H8dH 2lds
o2l 2,500 vsHIAlL 8. 6lglrl HIFeHI HedH wsd QL (1A oo 8§ ¢

aq, X
O = 2800
P = 2500
Q = 2,300
R = 1,600

A Raw - C, azg - R ets1dl w2 dl 414 Al Byd 2Usu€ls 3. 124+
ad vadl a3 ax 9.

(1AL A%UAL arg - Rell 3eieel B 551 s3U.
(i) 20,000 ¥R sALSL W €l AR,
(i) 30,000 ¥R sAlsl Ul €l AR,

3 HlMu [, 2 dl. 1-4-2020- Ay WASS el Gewten-dl d4l a3 sil.
dl. 31-3-2021-L A% YL ddl ¥ ge 2,00,000 <2t (28) Geule s,

3L €ls Beulerl UddR 3. 200 8dl. $a Geulesedl 75% +idl Geuyr [R:™Ad
oreloit QUi welely @1d AL, dHY 15% ol gl RR™d ey
bAoAl ML HLSEUL.

il id,
ool AUIZl ulA 10% ol
o ol vl WAL 10% ol
Yoy B{EFA w2000 +idl

RISHL ¢dl.
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Y. il e Wi, 83 925 AL BHd ¥ ARl s O, L A 928

oL €ls 3. 25 ALl v sUl &dl.

Y. IEFA weld Hid A 925 ALl Bud 1A Yool s8] s ¢
925 ARl BHd = WddR + W3dR-l 75%

« ool Mqld = 925 AARL BHd - 3. 50

Guardl HUSAL uell il v s eldd AL

Y. il A Al S0 ASL dal Alvell AL 2kl

4 YIs Rl GH 2l 2 wvil ABA (au) vid 20ddl 8. dd Aa-
A (¥) B. dl. 31-3-2021+ A%+ 513 wAY A Yoot B

[a2a1d GulR ousgl | L eusl
(¥) (¥)

A3AId-l 2L (1-4-20) 4,50,000 -
2alelRl - ARIEIR] 2,20,000 | 1,90,000
wildl - auel 35,00,000 | 30,00,000
Yoy UFA vig — | 24,60,000
adladl wal 2,80,000 -
el [adzel wal 3,00,000 -
A 6l 50,000 -
syl Basdl (dl. 1-4-20-0 Ay wdRa) | 7,50,000 -
Alelsly vzl 1,00,000 -
56,50,000 56,50,000

aqlil wledl :

(1) dl. 31-3-2021L A% AbIL UIA WAL VR RS Yedis 2,75,000
(¥) A1 s34 8.

(2)  Hvd VUZBAAL AU AL vildil GHIR eudl 3. 14,20,000 saulddl 8.
(3) [azall dRuHBIAL e 1A Yo © :
dl. 1-4-2020-L A% 1,000 3+ = 3. 650
« dl. 31-3-2021+ A% 1,000 A4 = 3. 750
« AWIA & 1,000 A4 = 3. 700
(4)  Hvu B, 18ydl v v 1Syl UaSs HIZ AWRUA € AU B,
Yoy GAAL AU vl dlfls [Biel aur s
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5 ARs sudl wiAel MBa . As Halld 1,50,000 $ ()l wsd Bud
udley. d He AARsH Sudlal sy yRanl diq @zl 20l sdl. di-dl
Yed 54 4 Al ARlS sl ud Ysaalrdl ard A1 diddl Haal sami
ldd, dld U dillls 12% aul ol Alsd 4 ysadl-dl sdl. 1l uam
Al vid YUl olsclld Gualomi lid. [RH™Y e 1A Yool vyl
ICICTI R

wilel aud (T,) 1$ = 3. 66
way il d (T, 1$ = 3. 67
ol ad-l id (Ty) 1$ = 3. 68.50
Al Al d (Ty) 1$ = 3. 67.50
lal ad-l 2id (T,) 1$ = 3. 70

2L Rl uell el €iel - 11 xqurR sl Basdil T, Ty, Ty,
T, 3wel e al ousl vudidl sy arudl.

6 (A olwd . 2 dl. 31-12-2020-1 A 32dls HlE@AHIA 30,000 $
(SleR)Mi 2udld s4l. dl. 20-4-2021-1 A% HARSA AU Ysas(l
s3.

dl. 31-3-20211 A% su-l d-l allils [Bael dur 52 8. d Rad
VL HlAAIMIA QAL [l 812 uR €5 dd3 W@l edl. gdumel e
1A Yoot gdl.

dl. 31-12-2020- A% 1$ = 3. 70
© dl. 31-03-2021-L A% 1$ = 3. 71
© dl. 20-04-2021-L A% 1$ = 3. 70.50

GURASsd Hiledl vl 2lwie [, AL 0043 [l 9Ll - 1141 desdul
BUHAY Uil

(B) AS-20 rels sHuwell.

7 g5y dvil :
(1)  Rdul [Baell QRedl o3Ruld.
(2) MNCri 48,
() AuleA-l vuld.

8  2sld quil :
(1)  Rdla [Baell direl - 11.
2 [Baell weulxsiil.

(3) M3dR VlqHid.
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ENGLISH VERSION

Instructions : (1) All questions carry equal marks.
(2) Attempt any four questions.

1 Sanyam Company produces its production within the three
departments. He provides the following information for the year

2020-21

Particulars Dept. Dept. Dept. Total
X Rs. | Y Rs. Z Rs. Rs.
Sales 3,200 2,400 2,400 8,000

Production Exp :-
Fixed - 200 40 240
Variable 2,400 1,400 1,360 5,160
800 800 1,000 2,600
Administration Exp. 268 232 344 844
Sales Exp. 404 420 464 1,288
128 148 192 468

(1) The Sales of Rs. 400 in department “X” is included in the
sales done by the production expenses of Department - Z.

(2) General expense of Rs. 260 is included in administrative
expense which is distributed in the gross profit ratio of all
departments.

(3) General expense of Rs. 200 i1s included in sales expense
which is distributed to each department on 2.5% of their
sales.

From the above information give preference to each activity
according to net profit margin approach.

2 Division - A i1s a profit centre, which product four products
0O, P, Q and R. Each product is sold in the external market also.
Data for the period are as follows :

Particulars 0] P Q R
Per unit :-
Labour hours 3 4 2 3
Market price Rs. 150 146 140 130
Variable cost Rs. 130 100 90 85
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Product - R can be transfered to Division - C, but the maximum
quantity required for transfer is 2,500 units of R.

The maximum sales are in the external market are as under:

Product Units
0 = 2,800
P = 2,500
Q = 2,300
R = 1,600

Division - C can purchase the same product at a slightly cheaper
price of Rs. 124 per unit instead Division - A.

What should be “Transfer Price” for each unit of product - R,
if the total labour hours available in Division - A are.

(1) 20,000 Labour hours
(11) 30,000 Labour hours

3 Monish Ltd. commenced manufacturing readymade shirts business
from 1-4-2020. It has produced 2,00,000 units (shirts) upto the
year 31-3-2021 at a cost of Rs. 200 per unit (shirts).

The company sold 75% units of total production to Udaipur
situated wholesale trader, at a wholesale price and 15% units
of total production sent to the Nathdwara based branch at a
wholesale price.

At the end of the year stock remained unsold.
With wholesale trader 10% units.

. With wholesale branch 10% units.
With head office 2,000 units.

H. O. and Branch have incurred selling expenses of Rs. 25 per
unit sold on retail price basis. The wholesale price and retail
price fixed by H. O. were :

Retail Price = Cost + 75% of cost.
. Wholesale price = Retail price - Rs. 50
Including H. O. they each have sold units on Retail price basis.

Find Closing Stock Reserve of the branch and Gross Profit and
Net Profit of H. O. and Branch.
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GH Stores of Surendranagar has a branch in Tokyo (Japan). Its

currency is Yen (¥). The following is the trial balance is as on

31-3-2021 :
Particulars Debit Credit
¥ ¥
Opening Stock (1-4-20) 4,50,000 -
Debtors - Creditors 2,20,000 1,90,000
Purchase - Sales 35,00,000 | 30,00,000
Head Office Alc — | 24,60,000
Administrative Exp. 2,80,000 -
Selling and Distribution Exp. 3,00,000 -
Cash and Bank 50,000 —
Fixed Assets (purchase on 1-4-2020) 7,50,000 -
Financial Exp. 1,00,000 -
56,50,000 56,50,000

Additional Information :

(1) On 31-3-2021 Closing Stock was valued at 2,75,000 Yen (¥).

(2) The debit balance of branch account was Rs. 14,20,000 in
the books of head office.

(3) The Exchange rates are as under :
* As on 1-4-2020 1,000 ¥ = Rs. 650
* As on 31-3-2021 1,000 ¥ = Rs. 750
. Average Rate 1,000 ¥ = Rs. 700

(4) Head Office has considered average exchange rate for

revenue exp. and revenue income.
Prepare Final Accounts of branch in the books of head office.
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5 Nimisha Ltd. purchased a machine of 1,50,000 $§ (Dollar) from
American company. For this purpose American company has get
him loan as a financial facility. Principal amount of loan is to
paid within 4 equal installment. 12% interest is to be calculated
on loan amount. Machine was installed in the end of first year
and started its usage. Exchange rates are given as under.

At the time of purchase (T) 18 = Rs. 66
At the end of First Year (T,) 18 = Rs. 67
At the end of Second Year (Ty) 1$ = Rs. 68.50
At the end of Third Year (T3) 1% = Rs. 67.50
At the end of Fourth Year (T, 1$ = Rs. 70

From the above information, as per Accounting Standard - 11

find out balance brought down amount for the fixed assets Tj,
Ty, Ts, T,

6 (A) Gopal Ltd. imported certain stock, worth 30,000 $ (Dollar)
on 31-12-2020. The payment is made on 20-4-2021 to
American supplier.

The Stock is in hand and lying unsold as on 31-3-2021 when
the company closes its accounts.

Exchange rates are given as under.

. On dated 31-12-2020 1$ = Rs. 70

. On dated 31-03-2021 1$ = Rs. 71

. On dated 20-04-2021 1$ = Rs. 70.50

From the above information, give Journal entries under AS-
11 in the books of Gopal Ltd.

(B) AS-20 Earning Per Share.

7 Write short notes :
(1) Need of Accounting Standard in India.
(2) Importance of MNC.
(3) Realisation Concept.

8 Write short notes :
(1) Indian Accounting Standard - 11.
(2) Accounting Conventions.

(3) Cost concept.
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